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No. K4 FiE | 4RI M| F | Ra7 -}
101  [E AR AR ] 2 | 1 59 11
102| S5H—= aig 5 3 2 55 4

103| EBKE— a1 5 5 3 61 17
104|  SFISfE— Az 5 7 1 59 12
105 EETH Atz 8 9 [ 2 54 3

201 #BIMEE IR 8 1 3 60 14
202| tEHEBZ s g |11 ] 3 66 30
301  #xFHFEH iz 8 | 13] 3 68 35
302 BEARE— iz B | 15] 2 63 23
303 HEAXRA KiE B | 22| 3 61 19
401 B E B |12 ] 1 57 7

501  SEHhiERER ELG] B | 17] 3 60 15
502| #EHEEX ELG B | 19| 5

503 HH B m T B | 21| 3 68 37
504| THFZ ELG) B | 23] 3 66 29
505| EREE ELG] 5 | 24| 3 58 9

601| EILEH# (EES 58 1 1 57 6

602| {EFHFRZ (EES 5 2 | 3 50 1

603| HARIHE [EES B | 11| 1 57 8

604| st BAZ [EES 8 5 1 55 5

605 AT B4 [EES 5 713 66 32
606| IUOB— [EES B | 13| 1 65 28
607| BE— EEES B | 24| 1 62 21
608 KFIEE= [iES B |12] 3 68 34
609| FRHEFIFX [EES B | 21] 5 64 26
610 IBREAT EES B | 23] 5 67 33
701 REE M I% B | 21| 1 70 40
702| KEEE R vl 57 B 19| 4 62 22
703 HECOEiE vl 34 B 17| 1 63 24
801| FIBxH EIR B | 22| 1 59 10
802| HBIEE TEIR 8 3 | 4 53 2

901| JIEME= REfT 8 1 5 61 20
902| E& B AEfT 2 2 5 64 25
903 fRH X REfT 5 5 5 72 41
904| EHEZ AT 5 7 5 69 38
1001 %8 B R B 9 | 4 61 16
1002 #EEFHLX R B | 24| 5

1101 FHEES &3 B | 11| 5 61 18
1102| —iFEH— ek B 12| 5 68 36
1103| #W@OEHH &5 5 | 28| 1 65 27
1201 —i# T B |13 ] 5 60 13
1301 HIER=EH 320 B 15| 4 69 39
1302 #&JIFNER 32T} % 17 S 66 31




